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oHYUHVLQGHQ� WRSODQDQ� ��� E|FHNoLO�� \DUDVD� LOH� NHPLULFL� |UQH÷LQH� GD\DQPDNWDGÕU�� 6DGHFH� HUJLQ� |UQHNOHU��
ED]Õ� GXUXPODUGD� LVH� JHQo� |UQHNOHU� GH÷HUOHQGLUPH\H� DOÕQPÕúWÕU�� $UDúWÕUPD� DODQÕQGD� ,QVHFWLYRUD¶GDQ� ��
�(ULQDFHXV� FRQFRORU��� &KLURSWHUD¶GDQ� �� �5KLQRORSKXV� IHUUXPHTXLQXP� 5KLQRORSKXV� KLSSRVLGHURV�
5KLQRORSKXV�HXU\DOH� 0\RWLV�EO\WKL� 0\RWLV�FDSDFFLQLL� 3LSLVWUHOOXV�SLSLVWUHOOXV� 0LQLRSWHUXV�VFKUHLEHUVL� YH�
5RGHQWLD¶GDQ� �� W�U� �6FLXUXV� DQRPDOXV� 0LFURWXV� JXHQWKHUL� 6SDOD[� OHXFRGRQ� $SRGHPXV� P\VWDFLQXV�
$SRGHPXV� V\OYDWLFXV� 5DWWXV UDWWXV� 5DWWXV� QRUYHJLFXV� 0XV� GRPHVWLFXV� YH�0XV� PDFHGRQLFXV� WHVSLW�
HGLOPLúWLU��%XQODUGDQ�5DWWXV�UDWWXV�UDWWXV�DOWW�U��%DWÕ�$QDGROX¶GDQ�LON�NH]�ND\GHGLOPLúWLU��'L÷HU�WDUDIWDQ�0XV�
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DUDúWÕUPD�DODQÕQGDQ�LON�NH]�ND\GHGLOPLúWLU��
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7KH SUHVHQW�VWXG\�LV�EDVHG�RQ�D�WRWDO�RI����VSHFLPHQV�RI�LQVHFWLYRUHV��EDWV�DQG�URGHQWV�FROOHFWHG�
RQ <DPDQODU�0RXQWDLQ�DQG�LWV�YLFLQLW\�LQ�ø]PLU�GXULQJ�WKH�SHULRG�IURP�$SULO������WR�-XQH�������2QO\�DGXOW�
DQG� VRPHWLPHV� VXEDGXOW� VSHFLPHQV� DUH� HYDOXDWHG�� ,Q� WKH� VXUYH\LQJ� DUHD�� D� LQVHFWLYRUDQ� �(ULQDFHXV�
FRQFRORU��� �� FKLURSWHUDQ� �5KLQRORSKXV� IHUUXPHTXLQXP� 5KLQRORSKXV� KLSSRVLGHURV� 5KLQRORSKXV� HXU\DOH�
0\RWLV� EO\WKL� 0\RWLV� FDSDFFLQLL� 3LSLVWUHOOXV� SLSLVWUHOOXV�� 0LQLRSWHUXV� VFKUHLEHUVL� DQG� �� URGHQW� VSHFLHV�
�6FLXUXV�DQRPDOXV� 0LFURWXV�JXHQWKHUL� 6SDOD[� OHXFRGRQ� $SRGHPXV�P\VWDFLQXV� $SRGHPXV�V\OYDWLFXV�
5DWWXV�UDWWXV� 5DWWXV QRUYHJLFXV� 0XV�GRPHVWLFXV�DQG�0XV�PDFHGRQLFXV� DUH�GHWHUPLQHG��$�VXEVSHFLHV�
RI 5DWWXV�UDWWXV� 5�U�UDWWXV�LV�UHFRUGHG�IRU�WKH�ILUVW�WLPH�IURP�WKH�:HVWHUQ�$QDWROLD��ZKLOH�0XV�GRPHVWLFXV�
DQG�0XV� PDFHGRQLFXV� DUH� UHSRUWHG� IRU� WKH� ILUVW� WLPH� IURP� WKH� $JHDQ� 5HJLRQ�� 6LPLODUO\�� 5KLQRORSKXV�
HXU\DOH� 0\RWLV� EO\WKL� 0\RWLV� FDSDFFLQLL� DQG�0LQLRSWHUXV� VFKUHLEHUVL� DUH� ILUVW� UHFRUGV�0DQLVD�3URYLQFH�
DQG�(ULQDFHXV�FRQFRORU� 3LSLVWUHOOXV�SLSLVWUHOOXV� 5DWWXV�UDWWXV�IURP�WKH�SUHVHQW�VWXG\�DUHD��
� 7KH GLDJQRVWLF� FKDUDFWHULVWLFV�� H[WHUQDO� DQG� FUDQLDO� PHDVXUHPHQWV�� IXU� FRORXUV�� HFRORJLFDO�
FRPPHQWV�� HFWRSDUDVLWHV�� VXEVSHFLILF� VWDWHV� DQG� EUHHGLQJ� ELRORJ\� RI� WKH� VWXGLHG� PDWHULDO� DUH� JLYHQ��
$GGLWLRQDOO\�� WKH� FKDUDFWHULVWLFV� RI� EDFXOD� RI� VRPH� VSHFLHV� DUH� XVHG� IRU� WKH� ILUVW� WLPH� LQ� 7XUNH\� IRU� WKH�
LGHQWLILFDWLRQ�RI�WKH�VSHFLHV��
�
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